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There are some cookies in a jar.

• Lee eats 5 of the cookies.

• Lucy eats 3 of the cookies.

• There are 9 cookies left in 

the jar.

How many cookies were in the 

jar at the start?

Amy has 32 pears.

She puts the 

pears into 

bags of 5

She needs 8 bags of pears.

How many more pears does she 

need?

1 2
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A school makes 50 sandwiches each 

day.

The table shows the number of 

sandwiches sold each day last week.

How many sandwiches in total were 

not sold last week?

Tony earns £600 a week.

He spends 20% of the amount 

remaining on a new coat.

How much money does the coat 

cost?

1 2
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Day Number of 
sandwiches sold

Monday 20

Tuesday 32

Wednesday 47

Thursday 18

Friday 39

I spend 3
10

of what 

I earn on rent for 

my house.


